=

[N,/ An deltag U
[e¢

=
o

[EEY

Ratio to ATLAS

13000 GeV pp | Unlderllyingl Event

: | T I T I T I T I T | I T |: g
— lead 9
= <N,> Vs pT (n] < 2.5, p.>05GeV,p >1 GeV) —8
- —0
- m ATLAS 3
- Pythia 6.424 ambtl 5 9;
- —
- ™
B 1o
| .2
— 1
— ()
— g =H n —<
- ..... pEERERN | n = g
- ) _1o
— ] 1™
L [ 1<
=
- = X
— - @
- 416
- [/ — <
u 19
- N -1 wn
- -
C 418
B ) | | | | | | | ' | | | | | | | | E
- ! ' ! =
— =2
1
L —0.5
" 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 10 20 30

p'Tead [GeV]



	Contents
	Page 1


